oopoooo I oooo ob190110 300

[S-LM O O

GbpO0OOOOUOOOOOOOOOOOOOOODOOOOOOOUODOODOODOOOO
googobooobooobooooboon

. Ooodoooooo GbPpOOOOISOODMIODOOOOOOD — OOGDhbPOOO

A.0000Ooogooo
1.00000

AD=C+1,+G
C=Co+c(Y-T)
AD=Co+eY —~T)+ 1.+ G
=cY 4+ (Co— T +1,+ Q)
2.0000 GbPODOOODAD=YOOODO GbPODOO

1
Y=Y+ Co—cT+1,+G) — ysz——(armT+Q+G)
—C
B. 0O00O0O
1.00000000000o0ooo
a.0000000000000000
(H)OooDDoOoODo 10000

. AR-AI AR
'TTTAT 1+i

(2)0000000T0000

A A A
AT R R R

I A TR TR T v
b.000D0000

ooooooo — O0oOOoOoodo

2.00000000
a. Jgoooboooooooooog
b.0O0D0OO0OOO0OOODOODOODOOOO
()0oooooo — ODOoOUOoOooooo

— gooooog
(2000000 — OO0OOoOoOoOo

— gooooog
II. oogoooo
A.0000D0OOOOODOO

M = Ll(Y) +L2(T’)



oopoooo I oooo ob190110 300

oooooo L=Y-200000 GDPODOOOOOOOOODOOOOOOO

ooooooo0 M=600000
oooooooogoog 600=Y —20r
B. GbpOOOO0ODOOOO —LMOO

III. oooogoooo

ooon

googbeddnD 2300



